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Ansioec Key
1. Solve the initial value problem

d*y

) . aE T¥= 0, w)y=1, ¢'(0)=1.

duxillary equation. ¢

rl,,.l._.o fomn (-"-1:1‘/

C=4 0K=C'>/B-—\ ‘
for COMpIEX numbers, \5&\—. C,lcoSJch-Cz_Smt \j(05 ==
r=o(t B¢ \:)’L-{") = = S$in th.'._COS‘t '"o)= 0, = |
Y,(6) = e**cosB L o 3 2
o8 =it °, j: cost +Sin<t

“t

- [ gt e tsinB €

jl+) Ce*tcosBt +G e S \t.-__r?\\)3 o givenequation to checkK
1

e ~¢,cost - CLSW‘"t

aer -
~C,Lost - 8int +0,cost +GSintE =0 VT
2. Solve the initial value problem Y wovky for when ¢=\,Cq = \
y' =5y +6y=—e* y(0)=2, ¥'(0)=35.
’:\Us(\'\\aﬂj equaﬁ ol Lot e ?;r-t'\'Cu\N sol ution for e
’-5r¢0=0 NSONOIMO YRNEOD S CAFE
(r-2)(r-%)=0 L
=23 ‘ 3 tjzc‘ce“ _
&iho\m 2neOVUsS 14 3¢ d i & '
setodons of y,=€e s e
= | Y =cert e loter -
ljp.._"% ?L‘b?s‘_‘?_‘:iﬁ“’“wf Y = et egoetteiete
¢ e 14 £ 2
D R R (2cE¥62cr ™) -5 (e e ke Dep(cke™) =&
(y-4p)'-5y-yed'* bCy-4p)=0 Yooy
Ly 1€ 3t Yo = ter®
YYye = G e+c e

Y=o tcer e, e
(= te¥e et S, "
() = e* 44 e 53 L
(0) =C,4C=2
‘j'“” =142, ¥3C =2

C, =1, ¢,=0

t 42t
(NN UJH—) SR WAS

1




